

Some integral involving extended Bessel-Maitland function with Jacobi polynomial

Musharraf Ali¹ and Waseem A. Khan²

¹*Department of Mathematics, G. F. College, Shahjahanpur, India
drmusharrafali@gmail.com*

²*Department of Mathematics, Faculty of Science,
Integral University, Lucknow, India
waseem08_khan@rediffmail.com*

Abstract

Motivated by Ghayasuddin and Khan [1] introduced generalized Bessel-Maitland function. In the present paper, authors establish a new interesting integral formulas involving the Wright generalized Bessel-Maitland function with Jacobi polynomials, which are also expressed in terms of generalized hyper geometric function. Further, some special cases of our main results are also considered.

2010 Mathematics Subject Classification: 33C10, 33C15, 33C70, 33E12.

Keywords: Mittag-Leffler function, Jacobi polynomial, Hypergeometric function, Wright generalized Bessel-Maitland function.

1 Introduction

Bessel type functions have received an importance due to their frequent use in mathematics and physical applications. In physical applications, the modified Bessel type functions of the third kind appear as solutions of certain radial Schrodinger equations and as Dirichlet problems with boundary conditions on a wedge. Besides, they play an important role in diffraction and hydrodynamics problems and are the approximant in certain uniform asymptotic expansions as well.

In last decade, many authors (see, e.g., [1-19] have developed numerous integral formulas involving a variety of special functions. Also many integral formulas associated with the Bessel functions of several kinds have been presented (see, e.g., [1-8]). Those integrals involving Bessel-Maitland functions are not only of great interest to the pure mathematics, but they are often of extreme importance in many branches of theoretical and applied physics and engineering (see [10]). Several methods for evaluating infinite or finite integrals involving Bessel-Maitland functions have been known (see, e.g., [1] and [18]). However, these methods usually work on a case-by-case basis.

The well known Mittag-Leffler function $E_\alpha(z)$ (which is the generalization of exponential function), occurs as the solution of fractional order differential and integral equation is defined by (see [8]):

$$E_\alpha(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + 1)}, \quad (1.1)$$

where $z \in \mathbb{C}$ and $\Gamma(s)$ is the Gamma function; $\alpha \geq 0$.

A generalization of $E_\alpha(z)$ was introduced by Wiman [19] as follows:

$$E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}, \quad (1.2)$$

where $\alpha, \beta \in \mathbb{C}$; $\Re(\alpha) > 0$, $\Re(\beta) > 0$, which is also known as Mittag-Leffler function or Wiman's function.

Afterwards, Prabhakar [9] introduced the function $E_{\alpha,\beta}^\gamma(z)$ in the form:

$$E_{\alpha,\beta}^\gamma(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}, \quad (1.3)$$

where $\alpha, \beta, \gamma \in \mathbb{C}$; $\Re(\alpha) > 0$, $\Re(\beta) > 0$, $\Re(\gamma) > 0$.

In (2007), Shukla and Prajapati [12] introduced and investigated the function $E_{\alpha,\beta}^{\gamma,q}(z)$ as:

$$E_{\alpha,\beta}^{\gamma,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}, \quad (1.4)$$

where $\alpha, \beta, \gamma \in \mathbb{C}$; $\Re(\alpha) > 0$, $\Re(\beta) > 0$, $\Re(\gamma) > 0$, $q \in (0, 1) \cup \mathbb{N}$ and $(\gamma)_{qn} = \frac{\Gamma(\gamma + qn)}{\Gamma(\gamma)}$, denotes the generalized Pochhammer symbol.

A new generalized Mittag-Leffler function was defined by Salim [14] as:

$$E_{\alpha,\beta}^{\gamma,\delta}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\alpha n + \beta)} \frac{z^n}{(\delta)_n}, \quad (1.5)$$

where $\alpha, \beta, \gamma, \delta \in \mathbb{C}$; $\Re(\alpha) > 0$, $\Re(\beta) > 0$, $\Re(\gamma) > 0$, $\Re(\delta) > 0$.

Further, Salim and Faraj [13] introduced the following extension of Mittag-Leffler function:

$$E_{\alpha,\beta,p}^{\gamma,\delta,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{(\delta)_{pn}}, \quad (1.6)$$

where $\alpha, \beta, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0\} > 0$; $p, q > 0$ and $q < \Re(\alpha) + p$.

Very recently, Ghayasuddin and Khan [1] introduced and investigate a new extension of Bessel-Maitland function as follows:

$$J_{\nu,\gamma,\delta}^{\mu,q,p}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} (-z)^n}{\Gamma(n\mu + \nu + 1) (\delta)_{pn}}, \quad (1.7)$$

where $\mu, \nu, \gamma, \delta \in \mathbb{C}; \Re(\mu) \geq 0, \Re(\nu) \geq -1, \Re(\gamma) \geq 0, \Re(\delta) \geq 0; p, q > 0$, and $q < \Re(\alpha) + p$.

Equation (1.7) is a generalization of equation (1.1)-(1.6).

We investigate some special case of the generalized Bessel-Maitland function (1.7) by particular values to the parameters $\mu, \nu, \delta, \gamma, p, q$.

- On replacing ν by $\nu - 1$, (1.7) reduces to the Mittag-Leffler function defined by (1.6) and (1.5).
- On setting $p = \delta = 1$ and replacing ν by $\nu - 1$, (1.7) reduces to the Mittag-Leffler function defined by (1.4).
- On setting $p = q = \delta = 1$ and replacing ν by $\nu - 1$, (1.7) reduces to the Mittag-Leffler function defined by (1.3).
- On setting $p = q = \delta = \gamma = 1$ and the replacing ν by $\nu - 1$, (1.7) reduces to the Mittag-Leffler function defined by (1.2).
- On setting $p = q = \delta = \gamma = 1$ and $\nu = 0$, (1.7) reduces to the Mittag-Leffler function defined by (1.1).

2 Integral involving extended Bessel-Maitland function with Jacobi polynomial

The generalized Jacobi polynomial is defined by (see [18]):

$$P_n^{(\alpha, \beta, c, d)}(x) = \frac{(1 + \alpha)_n}{\Gamma(n + 1)} {}_3F_2 \left[\begin{matrix} -n, & (1 + \alpha + \beta + n), & c; \\ (1 + \alpha) & d, & ; \end{matrix} \quad \frac{1 - x}{2} \right], \quad (2.1)$$

where $d \in \mathbb{C} - Z^- \cup (0); \alpha, n \in \mathbb{C} - Z^-; \beta \in \mathbb{C}; \Re(d - \beta - c) > 0$.

In dealing with Jacobi function, it is natural to make such use of our knowledge of the ${}_2F_1$ function (see [11]):

$$I_1 = \int_{-1}^1 (1 - x)^\lambda (1 + x)^\delta P_n^{(\alpha, \beta, c, d)}(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1 + x)^h] dx \quad (2.2)$$

$$= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \int_{-1}^1 (1 - x)^\lambda (1 + x)^{\delta + kh} P_n^{(\alpha, \beta, c, d)}(x) dx. \quad (2.3)$$

By using the formula given in (see [17]), we get

$$= \frac{2^{\lambda + \delta + 1} (\alpha + 1)_n \Gamma(\lambda + 1)}{\Gamma(n + 1)} \sum_{k=0}^{\infty} \frac{\Gamma(\delta + kh + 1)}{\Gamma(\lambda + \delta + hk + 2)} J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^h]$$

$$\times {}_4F_3 \left[\begin{matrix} -n, & 1 + \alpha + \beta + n, & c, & \lambda + 1; \\ \alpha + 1, & d, & \lambda + \delta + hk + 2; & 1 \end{matrix} \right], \quad (2.4)$$

Provided

- (i) $\mu, \nu, \gamma, \omega, \in \mathbb{C}; \Re(\mu) \geq 0, \Re(\nu) \geq -1, \Re(\gamma) \geq 0, \Re(\omega) \geq 0; p, q > 0$ and $p < \Re(\alpha + 1)$.
(ii) $\Re(\lambda) > -1, \alpha > -1$ and $\beta > -1$.

$$I_2 = \int_{-1}^1 (1-x)^\lambda (1+x)^\delta P_n^{(\alpha, \beta, c, d)}(x) P_m^{(\rho, \sigma, e, f)}(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1-x)^h] dx \quad (2.5)$$

$$= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \int_{-1}^1 (1-x)^{\lambda + kh} (1+x)^\delta P_n^{(\alpha, \beta, c, d)}(x) P_m^{(\rho, \sigma, e, f)}(x) dx. \quad (2.6)$$

Using (2.1) in above expression, we get

$$= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \frac{(1+\rho)_m}{m!} \sum_{k=0}^{\infty} \frac{(-m)_k (1+\rho + \sigma + m)_k (e)_k}{(1+\rho)_k 2^k k! (f)_k} \\ \times \int_{-1}^1 (1-x)^{\lambda + kh + k} (1+x)^\delta P_n^{(\alpha, \beta, c, d)}(x) dx. \quad (2.7)$$

Again using (2.1) in (2.7), we get

$$= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \frac{(1+\rho)_m (1+\alpha)_n}{m! n!} \\ \times \sum_{k=0}^{\infty} \frac{(-m)_k (1+\rho + \sigma + m)_k (e)_k}{(1+\rho)_k (f)_k 2^k k!} \sum_{l=0}^{\infty} \frac{(-n)_l (1+\alpha + \beta + n)_l (c)_l}{(1+\alpha)_l (d)_l 2^l l!} \int_{-1}^1 (1-x)^{\lambda + kh + k + l} (1+x)^\delta dx. \quad (2.8)$$

Using the formula

$$\int_{-1}^1 (1-x)^{n+\alpha} (1+x)^{n+\beta} dx = 2^{2n+\alpha+\beta+1} B(1+\alpha+n, 1+\beta+n). \quad (2.9)$$

Here (2.8) becomes,

$$I_2 = \frac{2^{\lambda+\delta+1} \Gamma(1+\rho+m) \Gamma(1+\alpha+n)}{m! n!} \sum_{k=0}^{\infty} \frac{(-m)_k (1+\rho + \sigma + m)_k (e)_k}{\Gamma(1+\rho+k) (f)_k k!} \sum_{l=0}^{\infty} \frac{(-n)_l (1+\alpha + \beta + n)_l (c)_l}{\Gamma(1+\alpha+l) (d)_l l!} \\ \times J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^h] B(1+\lambda + kh + k + l, 1 + \delta). \quad (2.10)$$

Provided

(i) $\mu, \nu, \gamma, \delta, \omega \in \mathbb{C}$; $\Re(\mu) \geq 0, \Re(\nu) \geq -1, \Re(\gamma) \geq 0, \Re(\omega) \geq 0, \Re(\delta) \geq 0, p, q > 0$ and $q < \Re(\alpha + p)$.

(ii) $\Re(\beta) \geq -1, h$ and λ are positive numbers.

$$\begin{aligned} I_3 &= \int_{-1}^1 (1-x)^\lambda (1+x)^\delta P_n^{(\alpha, \beta, c, d)}(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1-x)^h(1+x)^t] dx \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \int_{-1}^1 (1-x)^{\lambda+hk} (1+x)^{\delta+tk} P_n^{(\alpha, \beta, c, d)}(x) dx. \end{aligned} \quad (2.11)$$

Now, by using (2.1) in (2.11), we get

$$\begin{aligned} I_3 &= \frac{2^{\lambda+\delta+1} (1+\alpha)_n}{n!} \sum_{k=0}^{\infty} \frac{(-n)_k (1+\alpha+\beta+n)_k (c)_k}{(1+\alpha)_k (k!) (d)_k} \\ &\quad \times J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^{h+t}] B(1+\lambda+kh+k, 1+\delta+tk). \end{aligned} \quad (2.12)$$

Provided

(i) $\mu, \nu, \gamma, \delta, \omega \in \mathbb{C}$; $p, q \in \mathbb{C}$ and $q < \Re(\alpha + p)$.

(ii) $\Re(\alpha) > -1$, and $\Re(\beta) > -1$.

$$\begin{aligned} I_4 &= \int_{-1}^1 (1-x)^\lambda (1+x)^\delta P_n^{(\alpha, \beta, c, d)}(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1-x)^h(1+x)^{-t}] dx \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \int_{-1}^1 (1-x)^{\lambda+kh} (1+x)^{\delta-tk} P_n^{(\alpha, \beta, c, d)}(x) dx. \end{aligned} \quad (2.13)$$

Now, by using (2.1) in (2.13), we obtain

$$\begin{aligned} &= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \frac{(1+\alpha)_n}{n!} \sum_{k=0}^{\infty} \frac{(-n)_k (1+\alpha+\beta+n)_k (c)_k}{(1+\alpha)_k 2^k k! (d)_k} \\ &\quad \times \int_{-1}^1 (1-x)^{\lambda+kh+k} (1+x)^{\delta-kt} dx. \end{aligned} \quad (2.14)$$

Using (2.9) in (2.14), we get

$$\begin{aligned} I_4 &= \frac{2^{\lambda+\delta+1} (1+\alpha)_n}{n!} \sum_{k=0}^{\infty} \frac{(-n)_k (1+\alpha+\beta+n)_k (c)_k}{(1+\alpha)_k (k!) (d)_k} \\ &\quad \times J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^{h-t}] B(1+\lambda+kh+k, 1+\delta-tk). \end{aligned} \quad (2.15)$$

Provided

- (i) $\mu, \nu, \gamma, \delta, \omega \in \mathbb{C}$; $p, q > 0$ and $q < \Re(\alpha + p)$.
(ii) $\Re(\alpha) > -1$, and $\Re(\beta) > -1$.

$$\begin{aligned} I_5 &= \int_{-1}^1 (1-x)^\lambda (1+x)^\delta P_n^{(\alpha, \beta, c, d)}(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1+x)^{-h}] dx \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \int_{-1}^1 (1-x)^\lambda (1+x)^{\delta - hk} P_n^{(\alpha, \beta, c, d)}(x) dx. \end{aligned} \quad (2.16)$$

Now, by using (2.1) in (2.16), we get

$$\begin{aligned} &= \sum_{k=0}^{\infty} \frac{(\gamma)_{qk} (-z)^k}{\Gamma(\mu k + \nu + 1) (\omega)_{pk}} \frac{(1+\alpha)_n}{n!} \sum_{k=0}^{\infty} \frac{(-n)_k (1+\alpha + \beta + n)_k (c)_k}{(1+\alpha)_k 2^k k! (d)_k} \\ &\quad \times \int_{-1}^1 (1-x)^{\lambda+k} (1+x)^{\delta - kh} dx. \end{aligned} \quad (2.17)$$

Using (2.9) in (2.17), we get

$$\begin{aligned} I_5 &= \frac{2^{\lambda+\delta+1} (1+\alpha)_n}{n!} \sum_{k=0}^{\infty} \frac{(-n)_k (1+\alpha + \beta + n)_k (c)_k}{(1+\alpha)_k (k!) (d)_k} \\ &\quad \times J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^{-h}] B(1+\lambda+k, 1+\delta-hk). \end{aligned} \quad (2.18)$$

Provided

- (i) $\mu, \nu, \gamma, \delta, \omega \in \mathbb{C}$; $p, q > 0$ and $q < \Re(\alpha + p)$.
(ii) $\Re(\alpha) > -1$, and $\Re(\beta) > -1$.

3 Special Cases

(i). On setting $\alpha = \beta = c = d = \delta = 0$ and replacing λ by $\lambda - 1$ then integral I_1 transforms into the following integral involving Legendre polynomial (see [11], [17]):

$$\begin{aligned} I_6 &= \int_{-1}^1 (1-x)^{\lambda-1} P_n(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1+x)^h] dx \\ &= 2^\lambda \Gamma(\lambda) \sum_{k=0}^{\infty} \frac{\Gamma(kh+1)}{\Gamma(\lambda+hk+1)} J_{\nu, \gamma, \omega}^{\mu, q, p}[z2^h] \times {}_3F_2 \left[\begin{matrix} -n, & n+1, & \lambda; \\ 1, & \lambda+hk+1; & 1 \end{matrix} \right]. \end{aligned} \quad (3.1)$$

(ii). On setting $\alpha = \beta = \rho = c = d = e = f = \delta = \sigma = 0$ and replacing λ by $\lambda - 1$ then integral I_2 transforms into the following integral involving Legendre polynomials (see [11], [17]):

$$\begin{aligned}
I_7 &= \int_{-1}^1 (1-x)^{\lambda-1} P_n(x) P_m(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1-x)^h] dx \\
&= 2^\lambda \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \frac{(-m)_k (-n)_l (1+m)_k (1+n)_l}{(k!)^2 (l!)^2} J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^h] B(\lambda + kh + k + l, 1). \quad (3.2)
\end{aligned}$$

(iii). On setting $\alpha = \beta = c = d = \delta = 0$ and replacing λ by $\lambda - 1$ then integral I_3 transforms into the following integral involving Legendre polynomial (see [11], [17]):

$$\begin{aligned}
I_8 &= \int_{-1}^1 (1-x)^{\lambda-1} P_n(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1-x)^h (1+x)^t] dx \\
&= 2^\lambda \sum_{k=0}^{\infty} \frac{(-n)_k (1+n)_k}{(k!)^2} J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^{h+t}] B(\lambda + kh + k, 1 + tk). \quad (3.3)
\end{aligned}$$

(iv). On setting $\alpha = \beta = c = d = \delta = 0$ and replacing λ by $\lambda - 1$ then integral I_4 transforms into the following integral involving Legendre polynomial (see [11], [17]):

$$\begin{aligned}
I_9 &= \int_{-1}^1 (1-x)^{\lambda-1} P_n(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1-x)^h (1+x)^{-t}] dx \\
&= 2^\lambda \sum_{k=0}^{\infty} \frac{(-n)_k (1+n)_k}{(k!)^2} J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^{h-t}] B(\lambda + kh + k, 1 - tk). \quad (3.4)
\end{aligned}$$

(v). On setting $\alpha = \beta = c = d = \delta = 0$ and replacing λ by $\lambda - 1$ then integral I_5 transforms into the following integral involving Legendre polynomial (see [11], [17]):

$$\begin{aligned}
I_{10} &= \int_{-1}^1 (1-x)^{\lambda-1} P_n(x) J_{\nu, \gamma, \omega}^{\mu, q, p}[z(1+x)^{-h}] dx \\
&= 2^\lambda \sum_{k=0}^{\infty} \frac{(-n)_k (1+n)_k}{(k!)^2} J_{\nu, \gamma, \omega}^{\mu, q, p}[z(2)^{-h}] B(\lambda + k, 1 - hk). \quad (3.5)
\end{aligned}$$

References

- [1] Ghayasuddin, M, Khan, W. A, A new extension of Bessel-Maitland function and its properties, *Matematički Vesnik*, 70(4)(2018), 292-302.
- [2] Khan, W. A, Nisar, K S, Unified integral operator involving generalized Bessel-Maitland function, *Proc. Jangjeon Mathe. Soc.*, 21(2018), 339 - 346.
- [3] Khan, W. A, Nisar, K S, Beta type integral formula associated with Wright generalized Bessel function, *Acta Math. Univ. Comenianae*, 1(2018), 117-125.

-
- [4] Khan, W. A, Nisar, K S, Choi, J, An integral formula of the Mellin transform type involving the extended Wright Bessel function, *Far East J. Math.*, 102(2017), 2903-2912.
- [5] Ali, M, Khan, W. A, Khan, I. A, On certain integral transform involving generalized Bessel-Maitland function and applications, *J. Frac. Calcu. and applications*, 11(1) (2020), 173-181.
- [6] Ali, M, Khan, W. A, Khan, I. A, Study on double integral operator associated with generalized Bessel-Maitland function, *Palestine J. Math.*, (Accepted), (2019).
- [7] Ali, M, Khan, W. A, Khan, I. A, Beta type integral operator involving generalized Bessel-Maitland function, *Tamap J. Math. and Stat.*, (Accepted), (2019).
- [8] Mittag-Leffler, G. M, Sur la nouvelle fonction $E_\alpha(x)$, *CR Acad. Sci., Paris*, 137 (1903), 554-558.
- [9] Prabhakar, T. R, A singular integral equation with a generalized Mittag-Leffler function in the kernel, *Yokohama Math. J.*, 19 (1971), 7-15.
- [10] Prudnikov, A. P, Brychkov, Yu. A and Matichev, O. I, *Integrals and Series, Vol. I*, Gordan and Breach Science Publishers, New York, 1990.
- [11] Rainville, E. D, *Special functions*, The Macmillan Company, New York, 1960.
- [12] Shukla, A. K, Prajapati, J. C, On a generalized Mittag-Leffler function and its properties, *J. Math. Anal. Appl.*, 336 (2007), 797-811.
- [13] Salim, T. O and Faraj, A. W, A generalization of Mittag-Leffler function and Integral operator associated with the Fractional calculus, *Journal of Fractional Calculus and Applications*, 3(5)(2012), 1-13
- [14] Salim, T. O, Some properties relating to generalized Mittag-Leffler function, *Adv. Appl. Math. Anal.*, 4(1) (2009), 21-30.
- [15] Singh, M, Khan, M. A, Khan, A. H, On some properties of a generalization of Bessel-Maitland function, *Int. J. Math. Trends and Tech.*, 14(1)(2014), 46-54.
- [16] Sarabia, J, Kalla, S. L, On a generalized Jacobi transform, *J. Appl. Math. and Stochastic Anal.*, 15(4) (2002), 371-384.
- [17] Srivastava, H. M, Manocha, H. L, *A treatise on generating functions*, Halsted Press(Ellis Horwood Limited, Chichester), John Wiley and sons, New York, (1984).
- [18] Suthar, D. L, Habenom, H, Integrals involving generalized Bessel-Maitland function, *J. Science and Arts*, 4(37) (2016), 357-362.
- [19] Wiman, A, Uber den fundamental satz in der theorie der funcktionen, $E_\alpha(x)$, *Acta Math.*, 29 (1905), 191-201.